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HW 5 Solution
Solution 5.8
(a) If va and vy are the voltages at the inverting and noninverting terminals of the op
amp.
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Since v, = vp = 1V and 1, = 0, no current flows through the 10 kQ resistor. From Fig.

(),

Vat2+vog=0=>» vo=v,—-2=1-2=-1V
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But va = vy =2V,
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Solution 5.19

We convert the current source and back to a voltage source.
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Solution 5.44

R4
R M
MA a
— R b >
I— W\ +
Vo
R:2
v:— AW
v, v,
o — —v R, R
Atnodeb, » V1, Yo"V o —p V, = (1)
R, R, 11
L _+_
R, R,
O-v, vVv,-V, v,
Atnode a. = —_— V= (2)
R, R, 1+R, /R,
But va =vis. We set (1) and (2) equal.
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Solution 5.62

Let vi = output of the first op amp
v2 = output of the second op amp

The first stage 1s a summer
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Solution 5.70

The output of amplifier A 1s

30, 30
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The output of amplifier B 1s
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But vy = vy =-2V, 2(-9+2) = -2-v,

Theretore.

vo = 12V



